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Rl FHEENe EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
A1 9,611,229 13,329,422 A3,718,193
= 5,224,057
| 212,500
& 1,074,095
Al 3,100,577
FH23te| st 9,579,429 13,297,622 A3,718,193
= 5,224,057
J| 212,500
& 1,074,095
Al 3,068,777
FHEZINHA 9,092,539 12,989,321 A3,8%,782
= 5,224,057
| 212,500
& 1,074,095
Al 2,581,887
FHEZEINE A 185,230 223,852 A38,622
201 B2 AY| 18,750 17,372 1,378
01 A=R2teld| 9,050 7,672 1,378
O et==2H| 6,500
OFSUHY YRFX 3,000,0002 3,000
CESIEICR=EES 1,500,002 1,500
OEA U Z=RERY VARY )| 448
2,000,000& 2,000
O=Ztl 2,550
OFEHEY JRFE 850,000& 850
O=SsFead gRF 850,000 850
OFAH=0 I2FA 850,000& 850
2 SES29| 9,700 9,700 0
OAEZEHI S X8I 9,700
OFHEE MEXZ2 AIEE 7
9,700,000& 9,700
202 0idl 6,480 6,480
01 =LHO4 b 6,480 6,480
A2 gRFA 2,780,000& 2,780
OFHEZAE SEZA 900,000& 900
ozsxun =3 90,0002 900
OPIE 2 HASE & DHFE)| Al HEX
At 900,000& 900
OFNHE0 g2=F2 1,000,000& 1,000
402 QI X201 A 160,000 200,000 240,000
01 QIZEXH2 AN 2 2 (REAITH &) 160,000 200,000 240,000
OFRE2H UXHS=S ZH|
160,000, 000& 160,000
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402 2IZtA=01d 75,000 80,000 /5,000
=S 37,500
Al 37,500
02 RIINEASEZ(0IETHR) 75,000 80,000 25,000
O3 UGIRA BITTHA AMY
75,000,000 75,000
< 37,500
Al 37,500
SsFe2e| NG (NALESE =0 (EX) 230,000 308,000 78,000
= 230,000
402 212 X201 & 230,000 308,000 A78,000
< 230,000
02 QI XHE AL E R (01X THE) 230,000 308,000 A78,000
OS4H BMOHIE = IS AL 2
+=3At 30,000,000& 30,000
== 30,000
ONgdet 2/ =M 30,000,000 30,000
=S 30,000
ONEOHIE =2 & 2els =4 XS £X
30,000,000 30,000
= 30,000
OS4IX OHHE & 2 30,000,000& 30,000
= 30,000
OZ&20IE 28 &= 20,000,000 20,000
= 20,000
OF LA S g+ SA
30,000,000 30,000
& 30,000
OLIS SSTH(SHOHIE) A2 2
30,000,000 30,000
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30,000,000& 30,000
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3,773,479
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01 AR 2EHSHS(RDNEXRTHE) 87,000 0 87,000
OZIFA StAl SEXJAAL
87,000,000 87,000
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SN ASD
M FHESS gy
&2l 880 HES 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ASAIZL RN A 257,996 208,273 49,723
201 er23 | 4,001 4,001 0
01 At2teltl 4,001 4,001 0
O eS| 1,701
OUFAIE HIEFA 1,134,0002 1,134
OEMSZZ 8 Ol0IE 567,000& 567
O=gt| 2,300
OA=ANE 2= 1,300,000& 1,300
O=RES0ISAIE FHIAIL
1,000,000& 1,000
202 04| 2,495 2,772 N2TT
01 2LHA b 2,495 2,772 N2TT
OAFAE SRFA 2,495,000 2,495
402 BIZtAH=01A 250,000 200,000 50,000
01 QI X2 AL E A (KHMITHE) 250,000 200,000 50,000
O SS0IBAIL(2F) FH| &= - K2
= 250,000,000 250,000
405 Attt = 1,500 1,500 0
02 =A=HI 1,500 1,500 0
OAEAIL H2ME 2 1,500,002 1,500
HHSHAY|(ASD) 31,800 31,800 0
Jl23HI(A=1 31,800 31,800 0
Jl23HI(A=1) 31,800 31,800 0
202 04l 27,600 27,600 0
01 =LHN LI 27,600 27,600 0
O3S EZ0LI 100,000& x23E * 12& 27,600
203 HF=AH] 4,200 4,200 0
MU FAZSLIFAI 4,200 4,200 0
OA=1 350,000& * 128 4,200




